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General Procedure A:

RuCl3 (5 mol%)
NalO4 (3.0 eq.)

N Br N Br
F3CS H,O/CCI,/MeCN  F,CO,S
& rt, 1h Z

X

o X

X=C,N

General Procedure B:

Cul (10 mol%)
DMEDA (20 mol%)

@Br Nal (2.0 eq.) ‘Eﬁ/l

F3C0,S F3CO,S

32 V. nPentanol e Z

X 130 °C, 49—72 h
9

1-iodo-4-((trifluoromethyl)sulfonyl)benzene 5a, 1-iodo-3-((trifluoromethyl)sulfonyl)benzene 5b, 1-
iodo-2-((trifluoromethyl)sulfonyl)benzene 5c¢, 5-iodo-2-((trifluoromethyl)sulfonyl)pyridine 5d were
prepared from corresponding aryl bromide 9 by aromatic Finkelstein reaction. The resulting aryl
iodides 5a and 5d were obtained after full conversion of the starting material aryl bromide. However,
the reactions to obtain 5b and 5c didn’t undergo complete conversion of the aryl bromide starting
material 9, because of which the end products contained parts of the starting material due to
separation difficulties. 5b—c were characterised by only HRMS and used in the next step without

further purification.

General Procedure C:

TfOH (1.1 eq.) o
mCPBA (1.1 eq.)
~ ! ArH (1.1 eq.) X ar
X/ CH2C|2 X
t, 15—20 h ]
X=C,N

ArH = 2,4,6-(Me)sCgHs
4-(MeO)C6H4

Yield for reagent 1b and 1e is with respect to 9b and for 1c and 1f is with respect to 9c.
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General Procedure D (Method 1):

SO,CF3
0 oTs o R
R! I R’ A
A NaH (1.2 eq.) _
R2 X DMF R2
rt, 3-5 h
6 (1.1 eq) 2
1 X = C, N
Genereal Procedure D (Method 2):
0 6'_|;f o)
COR g':@\ fBUOK(1.2 eq.) COR
+ F3C0,S —_—
R LN THF R
rt, 24 h . 1rS0.CF;
6 (1.5 eq) 2 X
1 X=C,N
General Procedure E:
©
OTf,
® H
NH
2 ' Cu (10 mol%) NG
R + F3C0O,S —> R | SO,CF;
=z NMP, 80 °C ~
X X
7 (1.1 eq)
1 X=C,N
General Procedure F (Method 1):
©
OTf
I(-D .0
NaOH (2eq) R
R-OH + F3COZS _— SOZCF3
OMe H20,50°C
8 1 4
(1.2 eq)
General Procedure F (Method 2):
)
OTf
I® 0]
X tBuOK (1.2 eq) R” | N
R-OH + | — P
F3COzs N OMe THF, 40 °C N SOZCF?,
8 1 4
(1.2eq)
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Figure 1: Ortep diagram of 1b drawn at 50% probability. The hydrogen atoms have been
omitted for clarity.
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